


e
M
Z
10
M
o U

(]
-

JE OF mhy bt

M NTo R

|'E|'|-|0|-_||I
o N Ho

mr C 219

> 1 2o
H

mjo

CEIN 22 7|EE AFEOM HZ ALEE = UEE CEINEIDFHME 0| M
Y52 YAHAE E[0f BIJFYLCL B A
SRK A0 MRS HBSHE A
4014 O 4t9| AEZ Jx| 1 YU ok
$1zte] AYE S8 I8 Yol

=
o 10 %= o HAEE AN AA0|AH 55t ASLIC

o
[
bt
ki
lo
ox
or
mjo
i
>
oF
™

>

CEJN 21% 3A7|EE CEINEE
7tE2{et @H SSELIth

o

o e orM A XtE Te
SIA|H CI2ZE 3HM| 2.
www.cejn.kr/manuals

HE A2 MES| SHES =0/7| sk AP o1 glo] HAE

= =
LEARE2 1SO BES WHELICH 280 w2t AL 8l AI|E

L
FAF

=

QI = 77k THalFoll 22l5tA|7| HHEfLCh 28 £ Tl
I O] X| (www.cejn.com)S BHESH0] FHA|R.

rir
3

3

1]
T
n
re
[N
qr

AELICE 7t 9 HE 22/= M2l (CEIN) 3
Ql C|

+ z g
W2 7. QU gxisie] Weoh BRI A &




2 S -
o MBI E5

Lo ®of et CEINS 2+
Of A 210U SATIEE
2 2ol & HAE &

2t D740 97 -
Z38a AsLct

€| 3 2t2to| 2
RBel ¥52 Hojus

st 330| 7Hs

2 steel-
2N X
g 7 + 2 synthetic layers 3 steel layers 4 steel layers 4 steel layers 2 steel layers 4 steel layers 6 steel layers 6 steel layers
olm HH Z2|22E (PUR) Z2|R2E (PUR) Z2|R2|E (PUR) Z2|R3|E (PUR) Z2|0t0|E (PA) Z20t0|E (PA) Z2/0H0|E (PA) Z2|0t0|E (PA)
I = = = = ECEUEER] ECEALER] ECEALER] ECEALER]
Lo T & Z2|0L0|= (PA) Z2(0t0| = (PA) Z2|0t0|= (PA) Z2/0j0|= (PA) (POM) (POM) (POM) (POM)

L x 24 6.3x12.4 mm 9.7x18.0 mm 6.4x12.5mm 6.3x13.3mm 4,9x9,5mm 4.7 x11.5mm 4.7 x13.0 mm 3.9x11.5mm
2o AL 70.0 MPa 70.0 MPa 72.0 MPa 100.0 MPa 150.0 MPa 180.0 MPa 250.0 MPa 300.0 MPa
A oY 24y 186.0 MPa 215.0 MPa 288.0 MPa 320.0 MPa 375.0 MPa 450.0 MPa 625.0 MPa 700.0 MPa
E LN 70 mm (2.8") 120 mm (4.7") 70 mm (2.8") 80 mm (3.1") 95 mm (3.7") 130 mm (5.1") 175 mm (6.9") 140 mm (5.5")

27 190 g/m (6.7 02) 500 g/m (17.6 02) 250 g/m (8.8 0z) 305 g/m (10.7 0z) 140 g/m (4.9 02) 280 g/m (9.9 02) 410g/m(14.40z) | 290 g/m (10.2 02)
-40°C - +100°C -40°C - +100°C -40°C - +100°C -40°C - +100°C -10°C - +70°C -40°C - +100°C -40°C - +100°C -40°C - +100°C

(-40°F - +212°F)

(-40°F - +212°F)

(-40°F - +212°F)

(-40°F - +212°F)

Ct 7t4 L ®ME 22l= M2l (CEIN) 3t
o 27t LRstA|H ¢

=]

L
FA

(14°F - +158°F)

(-40°F - +212°F)

(-40°F - +212°F)

(-40°F - +212°F)

QI & Jh7he thel ol 22I5tAl7] BigfLich R E £ BHels mm LCH HAL
O| X[ (www.cejn.com)

I

= yo

= o

5H0] FHAL.




70 MPa (DN 6)

70 MPa, DN 10

sA 199510701 #% A 199510061  Black
199510702 & =] 199510066 G 3/8" male
19 951 0703 = 19951 0067 3/8" NPT male
199510704 Itz o8 ZE= M 19950 0064  3/8" HE =LIALE (tredo/dowty)
EQlsA 199510710  #zy/ &
199510711 AT/
A 199510730 G 1/4" male with 60° int. sealing cone + recess for Tredo ring
19951 0731 G 1/4" male with recess for USIT ring
19951 0732 G 1/4" male with 120° ext. sealing cone
(CMS)
199510733 G 1/4" male flat end for copper washer
19 951 0734 1/4" NPT male
199510735  3/8" NPT male
199510736 R 3/8" male
199510737  Sealing head (60°) + G 1/4" female swivel nut
19951 0738 Sealing head (60°) + M14 x 1.5 female swivel nut
199510739  24° ext. sealing cone with O-ring + M18 x 1.5
female swivel nut
19 951 0740 3/8" NPT fixed female
19951 0741 R 1/4" male
199510743  1/4" NPT fixed female
CH | A 2| 199511080  Kink-protection spring
19951 1081 Clamb for twin-hose
199511880 E=Z A pVC
g =M 199500062  1/4" B =LIALE (tredo/dowty)
199500084  1/4" (USIT &)
72 MPa (DN 6) 100 MPa (DN 6)
SA 199510721 Wz A 199511001  AHH
199510722 =& 199511002 I
199510723  AH 199511003 'z
19951 0724 ot 19951 1004 =
EQl A 199510791 #Ad/uz EQ A 199511010  ‘@z/mbat
199510792  ‘#z/mtat 199511011  ‘Hz/
199510793 =2/ZH% 199511012  Wzy/HA
199510794 @z /-2t HA 199510730 G 1/4” male with 60° int. sealing cone + recess
AA 199510730 G 1/4" male with 60° int. sealing cone + recess for Tredo ring
for Tredo ring 19951 0731 G 1/4" male with recess for USIT ring
199510731 G 1/4" male with recess for USIT ring 199510732 G 1/4" male with 120° ext. sealing cone (CMS)
19951 0732 G 1/4" male with 120° ext. sealing cone (CMS) 19951 0733 G 1/4" male flat end for copper washer
19951 0733 G 1/4" male flat end for copper washer 19951 0734 1/4" NPT male
199510734 1/4" NPT male 19951 0735 3/8" NPT male
199510735  3/8" NPT male 19951 0736 R 3/8" male
199510736 R 3/8" male 199510737  Sealing head (60°) + G 1/4"” female swivel nut
199510737  Sealing head (60°) + G 1/4" female swivel nut 199510738  Sealing head (60°) + M14 x 1.5 female swivel nut
199510738  Sealing head (60°) + M14 x 1.5 female swivel nut 199510739  24° ext. sealing cone with O-ring + M18 x 1.5
199510739  24° ext. sealing cone with O-ring + M18 x 1.5 e lle Gvival i
female swivel nut 199510740  3/8" NPT fixed female
19951 0740 3/8" NPT fixed female 19951 0741 R 1/4" male
199510741 R 1/4” male 199510743  1/4" NPT fixed female
199510743  1/4" NPT fixed female o i A 2] 19951 1080  Kink-protection spring
HMIM 2| 199511080  Kink-protection spring 199511081  Clamb for twin-hose
19951 1081 Clamb for twin-hose 19951 1880 B3 A pyC
199511880 H= 24 PVC 199511085 BSA E3S HiE ZZtAE =2
199511085 A Hz HHE Z2tAE S 199511086 =A HZ BHE ZtAE EF
199511086 A HS HiE ZgtAE 52 199511087 BA H3 HIE ZEZIAE &
199511087 A H3Z HHE ZgtAEl gE 199511088 A H35 HHE ZgAE A2
199511088 ZA HzZ HME ZEiAE A2 g g5 A 199500062  1/4" B3 =LIAIE (tredo/dowty)
ng =M 199500062  1/4" Bl =LIALE (tredo/dowty) 199500084  1/4" (USIT &)
19 950 0084 1/4" (USIT &)
HE ME2 HES ZEE =017] ok AFH o1 glo] HAE 4= ASLICE 74 A HE 22l= M2 (CEIN) &= £ 7R tH2lFo| 22lotAl7| L Ch 2 & £ thele mm YLICL AZ28
LEARAME 1SO EEE [ Ch 2o w2t 48 U AXHE 3 7 o ] (www.cejn.com)S HESI FHA|L.




2

a = 150 MPa (DN 5) A\ 180 MPa (DN 5)
sA 199511511 E& A 199511801 It
AA 19951 1542 G 1/4" male with 120° ext. sealing cone (CMS) A 199511830 G 1/4” male with 60° int. sealing cone recess
for Tredo ring
19951 1831 G 1/4" male flat end for copper washer, with
recess for USIT ring
199511832 G 1/4" male with 120° ext. sealing cone (CMS)
19951 1833 Sealing head (60°) G 1/4" female swivel nut
199511835  59° ext. sealing cone 9/16"”-18 UNF female
swivel nut
199511836  Sealing head (60°) M14 x 1.5 female swivel nut
HAME| 199511880 E3 &A PVC
g 354 199500062  1/4" B =LIALE (tredo/dowty)
199500084  1/4” (USIT &)
A2 JH A (@ 199500083  1/4" (EB k)
Zx)
ARy L\
v % . 250 MPa (DN 5) 300 MPa (DN 4)
sSA 199512501  #Z SA 199513001 It
Az 199512530 G 1/4" male with 120° ext. sealing cone (CMS) oA 199513030 9/16" - 18 UNF A9 E
199512534 G 1/4" male flat end for copper washer 19951 3031 1/4" - 28 UNF Left hand
19951 2531 Sealing head (60°) + G 1/4" female swivel nut 19951 3032 M16 x 1,5 male
199512533  M16x1.5 male with 60° ext. cone OH M| M 2] 199511880 EZT ZAPVC
19951 2532 59° ext. sealing cone + 9/16”-18 UNF female
swivel nut

MM E| 199511880 H& SA pVC




CEJN IDENTIFICATION SYSTEM
NFC TECHNOLOGY

k=

1Ty T

L|Ct. w2k, 322
+= CEJN M E2 At&3ICH=

g9 bt
o2

r

m

HEAMI|E QI (NFCH) RS 28350
7|E0| CHsto] O|HE He|e 5= AUes AIAHE = SIS LICHL MEY L2 ofL|at 2t
|AE

Bt ot
k1 ol
2

 BAF|ETH AN, OfCIM dato] E[A X2 o] TIUHAEE 2N HAZF EIRAL, MES

*NFC: Wireless data transfer that detects and then enables technology in close proximity to communicate without the need for an internet connection. An NFC chip operates as one part of a wireless link.
Once it has been activated by another chip, small amounts of data between the two devices can be transferred when held a few centimetres from each other.




o))

&
I /ﬁlﬁ{‘@

>
.
o

CEJN IDENTIFICATION SYSTEM
NFC TECHNOLOGY

CEJN IDENTIFICATION SYSTEM

NFC TECHNOLOGY

ZEE Q| OtF K3

www.cejn.kr/cis
p Google play
. )

AxH HHO|A M
e USB 2| At : ARC122

e Windows 7, 8 or 10 compatible

o« A7l 27| 7|5 M=

e DATJ|E O|HIZ

X2 UM F2 It

CIS H|O A|AR2 NCF* 7|&0f 7|4tE £ Q&L|Ch
A2 otE HE = WA MY o 242l =&
7|E0| AE|HYE 2 2% 2|0 HLCH HI= o
DL OO ot MEZE MEE O A2, ALEAL
o g 7o et MEE|of £XE Jhs BLICE QR &
CEHIREZHE S8 MEXILE HE
HAz|of 20f HL|C}

A Mst HE 20l www.cejn.kr/cis




=M
[ =0{tH Q! / HIGH-PRESSURE CENTER

I =ogel

Ag

www.cejn.se

L] g
www.cejn.dk Www.cejn.com
¥ o
2 \ o
www.cejnuk.com .
m www.cejn.de
. ) www.cejn.ch
www.cejn.us —jil www.cejn.fr
L olgajof
A9l www.cejn.it

W HAZ WwWw.cejn.es

www.cejn.us/es

G|
www.cejnbrasil.com.br

ut

1955E A|ZHZEICEJNS| AL

o3
. ]
www.cejn.kr Y=
A WWW.CejN.co.jp
a3
ole .
N WWW.cejn.com.cn
WWW.cejn.in

=Lt
yrtze g SHOMo
WWW.Cejn.com.sg
QI | AlOF
F
WwWw.cejn.com.au

CEJN2 1955 Z|Z=0| EHE 712 S AM22 AFHo Xl 2 71282 W, dudf 210 ASLICE
2QH0 2AE E 228 7IY22 M 22719 oiX| gols 71 74 =2 RE HYZO HES Seote U
=4

CEINZ oH, 2tg, B2, o4, d50l2t= O 7hx| oy J7HX[E F5tl ASHEL O 7HXE2 f2lef =
MO|H R2[7t F=FUX], O{EA L2 St=Xl, FA2 UEBI=X], FAE YYS=XE SELLIL

O B2 YEE ot 82 CEN o= gl = A ST 0| X|(www.cejn.knS S HEHHEILICH

E JM The Qu{ck Connecz:
Solution Provider




